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1. 81 tan®40° —33tan%40° +27tan240° = k 12 Ao k3 +k2+k+ 1 whiuwla

~ 4 o o dy
2. wiigniendnyaiae 1
1. sinAsin(60° — A)sin (60°+ A)
2. cosAcos(60°—A)cos (60°+A)

3. tanAtan(60° — A)tan (60° + A)
4. cotAcot(60°—A)cot(60°+A)

< sin3A

=cos3A

tan3A
cot3A
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3. 1 sin3A = 2 1A2A1999 9sin A sin (60° — A)sin (60° + A) mnuvelase lii

W

1 3
1.5 2.1 3.5 4. 2

4 ﬂ'T”UE]Q sin25°sin 85°sin 35°

st mmifudelage Ui (PAT 1 W.e.57)

1. tan15° 2. sin15%sin75°

3. ¢0s20°cos40°cos 80° 4. sec420°

2 We By The Brain
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5. 81 sin2°sin22°sin 38°sin 42°sin 58°sin 62°sin 78°sin 82° = % 19 a uag b
3 o < ~ (Y 9 A (Y] [
L‘]Jumu’ml,@m Iﬂﬂ‘ﬂ N.53.4. Y93 a uag b MY 1 1l b—a Mﬂ%“l/ﬂﬂﬂwnﬁlﬂ
(PAT 1 ¢.9. 58)

6. The value of tan 6°tan 42°tan 66°tan 78° is equal to (PAT 1 ¢.7. 58)
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tan 20° + 4 sin20°
sin20°sin 40°sin 80°

7. A1UDd AU e (PAT 1 5.9. 54)

8. Let O be an acute angle such that 8 cos 20 + 8sec20 = 65

Find the value of 4 cos 46
31 _31 _3 _3
a. —5 b. 1 c. g d. T

4 We By The Brain
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9. IfcosA = % , then what is the value of 32 sin% sin % ?
a. 3 b. 6 c. 8 11

10. Mnuald 8cos20+8sec20 = 65 1110 0<6 < 90°

A0 16Osingsin52—e s la (PAT 1 e, 57)
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sin (2A+B)

: Hawmla (OLYMPIC)
sinB

11. &1 5tanA = tan(A+B) 1d2A1904

12. 41 o vaz 6 15 usauese Tagh 0<6 <a<90° uazdoandoafuanms
v
tan(oi+0) = Stan(c—0) A (sin20)(csc20) tmpualaaeliil (PAT 1 1.4, 58)

5 5 3 2
1'5 2'Z 3.5 4.§

6 We By The Brain
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o © " W ] Y
13. MUY arctan[z?o“Q —c0s350 ] minudelane il (PAT 1 .. 58)
sin70” — cos 80

1. 15° 2. 30° 3. 45° 4. 60°

14. MMuAga A, B, C UUNNANHINHLUIY 931

y

A
(c,d)

Bw(a,b)

Al(1,00 X

] VYO [l 1 N 1
faulde AB o Z i uazaiulfe BC 817 X miaw

Y = 1T v Y

187 ad HAuNInUUela (PSU. 57)

J2 -1 ) J2 +1 3 J3 -1 J3 +1
4 T4 4 4

J2+43
4

1.

5.
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4 I o a
15. 81 c0s50 = acos’0+bcos30+ccos® 110 0 1WUIIMINITI]AY

HAIAU0Y a2+ b2 +c2 whnumla (PAT 1 1.8, 57)

. . . . y 3 o a
16. 1 sin50 = asin®0+bsin30+csin® Wo 6 WudmIuasalag

WA AV (a+b+o)2 wnduwinla (PAT 1 ¢.9. 58)

8 We By The Brain
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! c0836°— cos72° RS-SRS, =
17. AUy Sin36°tan 18° £ cos 36° Wnﬂ‘UWl"Iﬁlﬂ (PATI 3J.ﬂ.53)

18. fviua ABC ifugdammasylasfigaven A qasea B uazqaven C
ofuIduTEUIVINNAN N TISATINIAY R wiiae
MANVENIVOIATUATIINYY A LazyN B ITD a 1az b 118 AAIAY
yu ABC Wiy 18° uazay ACB 11 36° 1@2A1ued a—b wfudelade i
(PAT 1 1.9. 58)

R 4, L

R 3. 6

I. R 2.

B | —
B
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19. AWD9 csc 10° +cse 50° — cse 70° i la

Y
1 " v Y 1 =1
20. AUDI cos27—"+cos47”+cos,6—77t mnude laas 1l
1 | | |
1. -1 2. 1 3 -5 4 >

10 We By The Brain
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21, MDY cos2E +c0s22 +cos24 duminla

7 7 7

d v
22. 14 A uaz B iiluyuuvianTaeh tanA = 1| cosB =

1
k 9

8z A+B = arcsin—= a1 k whnudela (PSU)

J5
1. =7 2. -1 3.1

3
J10

11
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23. AUB4 sin[%arcsin(—g—‘s‘)] minudela (PSU)
32 3 3 32
1. _T 2. _g 3. g 4. T
24. arctan?2 + arctan3 uA1AIaUT laae 117l (OLYMPIC)
T _3n n 3n
L X 2. 3 3. 2 4. 3

12 We By The Brain
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9
25. sin(arctan?2 + arctan3) e lase Tl (A-NET)

1. - 2. - 3.

L 1
2 2

1
2

1

26. ¥ a = 2arctan%+arctan7 INIANVDY 14;550(a) (OLYMPIC)

B | —

13
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27. AU secz(2arctan%+arctan%) U la

9
28. 91 arctan 1 +arctan2 +arctan3 = k(arctan 1 + arctan % + arctan %)

9 k a1 1w '
L7 kk Nﬂ?iﬂ’]ﬂll!‘ﬂ'ﬂﬂ

14 We By The Brain



29. fmuald 0<o< z Taen

JX +1
1-Jx

0 = arctan(
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)—arctan(ﬁ) e 0<x<1

ANVDY tand +cot® MAUIA (PAT 1 3.9. 56)

1+/6
30. cot|:arccos ‘/g —arccos 5 f

1. |5 2. |z

Y
} nawmiuvelaas lil (PAT 1 3.0, 57)

1+\/€
3. 5 4. J3

15
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4
31. A1vU93 cot(arccot7 +arccot 13 +arccot21 + arccot31) mudelaae 11

(PAT 1 1.91. 54)

11 13
1. T 2. T 3.

1o
b
[5;

y 1
32,01 X arctan(

L ) = arctanx - % uda x Jaumoumla (OLYMPIC)
k=1 +k+

k2 +k+1

16 We By The Brain
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—1x-1 —12x=1 _ .. 123
33. If tan —x+1+tan il = tan 36

Then sin(tan'x) is equal to :

34. The number of solution of equation
tan_l(x— 1) +tan_lx+tan_1(x+ 1) = tan"13x is:

a. 0 b. 1 c. 2

17
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35. dmuald ABC ifugeumasy Tasfiianuenvesdmassdmyy A yu B
gazyy C NN a W28 b WYY 1Az ¢ MUIE MUMAY tazyy A Jvua
flugeunveany B %’aiﬂei@”lﬂf?gnﬁm (PAT 1 1.8. 57)

1. ¢2 = a%+ab 2. ¢? = b%+ab

3. a2 = b2 +bc 4. a% = c?2+bc

36. muald ABC Wlugdeammdsuiiiyy B uazyn C duyuunan
Tagf 25cosB—13cosC = 15, 65(cosB+cosC) = 77 UazAIUATIN WYY C

17 20 WUe ATWEIU LA LT Euasy ABC tiumila (PAT 1 1.9, 57)

18
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37. Ifina AABC, sin3A +sin3B+sin3C = 3sinAsinBsinC

then the value of the determinant

abec
bca
cab

is equal to :

38. Iftan A, tan B are the roots of the quadratic abx? —c2x+ab = 0,

where a, b, ¢ are the sides of a triangle, then sinA + sin?B + sin?C =
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39. Ina AABC, the sides a, b, ¢ are the roots of the equation x3 —11x2% +38x—40 = 0.

cosA  cosB |, cosC .
Then =——+ L T 18 equal to
3 9
a. 1 b. ) ¢ 16 d. None of these

40. Let f(x+y) = f(x) - f(y) for all x and y and f(1) = 2.
If in a triangle ABC, a = f(3), b = f(1)+£(3), ¢ = f(2) +1(3), then 2A =
a. C b. 2C c. 3C d. 4C

20 We By The Brain
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41. The lengths of the sides of a triangle are consecutive integers, and the largest angle is

twice the smallest angle. The cosine of the smallest angle is
3 7 2 9
a. 7§ b. 10 c. 3 d. i

e. none of these

42. If sides of a triangle are three consecutive natural numbers and its largest angle

is twice the smallest one, then the largest side of triangle is .....

2]
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{ ' I~ 1
99. lusumasy ABC 81 a%+b%+c* = 2(a2 +b2)c? 1d1a1ved cos2C Whumla

100. Let a, b and ¢ represent the sides of triangle ABC opposite to the vertices A, B and C
respectively. If at+b*+ct+b2c2-2a2(b%2+c¢2) =0,

then the value of secz(A) is equal to .....

22 We By The Brain
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